Headline Data 2017-18

Pupil Premium Comparison Whole school


	Whole School = 145 pupils
	Speaking
PP=14, Other=16
	Listening
PP=14, Other=16
	Spoken Language
PP=71, Other=44
	Reading

	Writing

	
English
	Exceed 
	Met
	Did not meet
	Exceed 
	Met
	Did not meet
	Exceed 
	Met
	Did not meet
	Exceed 
	Met
	Did not meet
	Exceed 
	Met
	Did not meet

	Key Stage 1
	Pupil Premium = 3
	1
50%
	1
50%
	0
0%
	0
0%
	2
100%
	0
0%
	1
100%
	0
0%
	0
0%
	1
33%
	2
67%
	0
0%
	2
67%
	1
33%
	0
0%

	
	Other = 6
	2
33%
	4
67%
	0
0%
	4
67%
	2
33%
	0
0%
	0
0%
	0
0%
	0
0%
	3
50%
	3
50%
	0
0%
	2
33%
	4
67%
	0
0%

	

	Key Stage 2
	Pupil Premium = 21
	4
44%
	5
56%
	0
0%
	2
22%
	7
78%
	0
0%
	11
92%
	1
8%
	0
0%
	14
67%
	6
28%
	1
5%
	13
62%
	8
38%
	0
0%

	
	Other = 21
	3
38%
	4
50%
	1
12%
	4
50%
	4
50%
	0
0%
	9
70%
	2
15%
	2
15%
	13
62%
	7
33%
	1
5%
	14
67%
	5
24%
	2
9%

	

	Key Stage 3
	Pupil Premium = 41
	1
100%
	0
0%
	0
0%
	0
0%
	0
0%
	1
100%
	23
58%
	16
40%
	1
2%
	22
54%
	15
37%
	4
19%
	25
61%
	14
34%
	2
5%

	
	Other = 18
	1
100%
	0
0%
	0
0%
	0
0%
	0
0%
	1
100%
	10
59%
	6
35%
	16%
	12
67%
	2
11%
	4
22%
	10
56%
	4
22%
	4
22%

	

	Key Stage 4
	Pupil Premium = 20
	1
50%
	1
50%
	0
0%
	0
0%
	2
100%
	0
0%
	10
56%
	6
33%
	2
11%
	11
55%
	7
35%
	2
10%
	6
30%
	10
50%
	4
20%

	
	Other = 15
	0
0%
	1
100%
	0
0%
	1
100%
	0
0%
	0
0%
	8
58%
	3
21%
	3
21%
	11
73%
	3
20%
	1
7%
	14
93%
	1
7%
	0
0%

	

	Whole School
	Pupil Premium = 85
	7
50%
	7
50%
	0
0%
	2
14%
	11
79%
	1
7%
	45
63%
	23
32%
	3
5%
	48
57%
	30
35%
	7
8%
	46
54%
	33
39%
	6
7%

	
	Other = 60
	6
38%
	9
56%
	1
6%
	9
56%
	6
38%
	1
6%
	27
61%
	11
25%
	6
14%
	39
65%
	15
25%
	6
10%
	40
67%
	14
23%
	6
10%




Pupil Premium Comparison Whole school


	Whole School = 145 pupils
	Using & Applying

	Number

	Geometry & Measure

	Statistics
PP=64, Other=39

	
Maths
	Exceed 
	Met
	Did not meet
	Exceed 
	Met
	Did not meet
	Exceed 
	Met
	Did not meet
	Exceed 
	Met
	Did not meet

	Key Stage 1
	Pupil Premium = 3
	1
	2
	0
	2
	1
	0
	1
	2
	0
	n/a
	n/a
	n/a

	
	Other = 6
	3
	3
	0
	3
	3
	0
	2
	4
	0
	n/a
	n/a
	n/a

	

	Key Stage 2
	Pupil Premium = 21
	12
	8
	1
	11
	10
	0
	11
	9
	1
	6
	1
	0

	
	Other = 21
	12
	9
	0
	12
	9
	0
	11
	10
	0
	8
	0
	0

	

	Key Stage 3
	Pupil Premium = 41
	18
	9
	14
	21
	15
	5
	20
	11
	10
	27
	7
	4

	
	Other = 18
	8
	5
	5
	9
	5
	4
	9
	4
	5
	10
	5
	2

	

	Key Stage 4
	Pupil Premium = 20
	14
	5
	1
	11
	6
	3
	10
	8
	2
	15
	3
	1

	
	Other = 15
	10
	3
	2
	9
	4
	2
	8
	2
	5
	11
	2
	1

	

	Whole School
	Pupil Premium = 85
	45
53%
	24
28%
	16
19%
	45
53%
	32
38%
	8
9%
	42
49%
	30
35%
	13
16%
	48
75%
	11
17%
	5
8%

	
	Other = 60
	33
55%
	20
33%
	7
12%
	33
55%
	21
35%
	6
10%
	30
50%
	20
33%
	10
17%
	29
74%
	7
18%
	3
8%







Pupil Premium Comparison Whole school


	Whole School = 145 pupils
	Science

	PSHE

	ICT


	

	Exceed 
	Met
	Did not meet
	Exceed 
	Met
	Did not meet
	Exceed 
	Met
	Did not meet

	Key Stage 1
	Pupil Premium = 3
	0
	2
	1
	0
	1
	2
	0
	1
	2

	
	Other = 6
	2
	4
	0
	4
	2
	0
	2
	3
	1

	

	Key Stage 2
	Pupil Premium = 21
	12
	9
	0
	12
	9
	0
	4
	15
	2

	
	Other = 21
	16
	5
	0
	13
	6
	2
	7
	9
	5

	

	Key Stage 3
	Pupil Premium = 41
	31
	3
	7
	28
	10
	3
	39
	1
	1

	
	Other = 18
	14
	2
	2
	13
	4
	1
	14
	1
	3

	

	Key Stage 4
	Pupil Premium = 20
	16
	3
	1
	16
	2
	2
	16
	3
	1

	
	Other = 15
	12
	3
	0
	12
	2
	1
	13
	2
	0

	

	Whole School
	Pupil Premium = 85
	59
69%
	17
20%
	9
11%
	56
66%
	22
26%
	7
8%
	59
69%
	20
24%
	6
7%

	
	Other = 60
	44
73%
	14
23%
	2
3%
	42
70%
	14
23%
	4
7%
	36
60%
	15
25%
	9
15%





Gender Comparison Whole School


	Whole School = 145 pupils
	Speaking
G = 9, B = 21
	Listening
G = 9, B = 21
	Spoken Language
G = 38, B = 77
	Reading

	Writing

	
English
	Exceed 
	Met
	Did not meet
	Exceed 
	Met
	Did not meet
	Exceed 
	Met
	Did not meet
	Exceed 
	Met
	Did not meet
	Exceed 
	Met
	Did not meet

	Key Stage 1
	Girls = 6
	2
	4
	0
	3
	3
	0
	0
	0
	0
	1
33%
	2
67%
	0
0%
	2
	4
	0

	
	Boys = 3
	1
	1
	0
	1
	1
	0
	1
	0
	0
	3
50%
	3
50%
	0
0%
	2
	1
	0

	

	Key Stage 2
	Girls = 9
	3
	0
	0
	2
	1
	0
	6
	0
	0
	14
67%
	6
28%
	1
5%
	9
	0
	0

	
	Boys = 33
	4
	9
	1
	4
	10
	0
	14
	3
	2
	13
62%
	7
33%
	1
5%
	18
	13
	2

	

	Key Stage 3
	Girls = 22
	0
	0
	0
	0
	0
	0
	13
	9
	0
	22
54%
	15
37%
	4
19%
	12
	8
	2

	
	Boys =37
	2
	0
	0
	0
	0
	2
	20
	13
	2
	12
67%
	2
11%
	4
22%
	23
	10
	4

	

	Key Stage 4
	Girls = 10
	0
	0
	0
	0
	0
	0
	5
	4
	1
	11
55%
	7
35%
	2
10%
	8
	2
	0

	
	Boys =25
	1
	2
	0
	1
	2
	0
	13
	5
	4
	11
73%
	3
20%
	1
7%
	12
	9
	4

	

	Whole School
	Girls = 47
	5
56%
	4
44%
	0
	5
56%
	4
44%
	0
	24
63%
	13
34%
	1
3%
	48
57%
	30
35%
	7
8%
	31
66%
	14
30%
	2
4%

	
	Boys =98
	8
38%
	12 57%
	1
5%
	6
29%
	13
62%
	2
9%
	48
62%
	21
27%
	8
11%
	39
65%
	15
25%
	6
10%
	55
56%
	33
34%
	10
10%




Gender Comparison Whole School


	Whole School = 145 pupils
	Using & Applying

	Number

	Geometry & Measure

	Statistics
G = 33, B =70

	
Maths
	Exceed 
	Met
	Did not meet
	Exceed 
	Met
	Did not meet
	Exceed 
	Met
	Did not meet
	Exceed 
	Met
	Did not meet

	Key Stage 1
	Girls = 6
	2
	4
	0
	3
	3
	0
	1
	5
	0
	n/a
	n/a
	n/a

	
	Boys = 3
	2
	1
	0
	2
	1
	0
	2
	1
	0
	n/a
	n/a
	n/a

	

	Key Stage 2
	Girls = 9
	5
	4
	0
	8
	1
	0
	7
	2
	0
	3
	0
	0

	
	Boys = 33
	19
	13
	1
	15
	18
	0
	15
	17
	1
	11
	1
	0

	

	Key Stage 3
	Girls = 22
	8
	6
	8
	12
	6
	4
	13
	4
	5
	12
	6
	2

	
	Boys =37
	18
	8
	11
	18
	14
	5
	16
	11
	10
	25
	6
	4

	

	Key Stage 4
	Girls = 10
	5
	3
	2
	6
	2
	2
	6
	3
	1
	8
	1
	1

	
	Boys =25
	19
	5
	1
	14
	8
	3
	12
	7
	6
	18
	4
	1

	

	Whole School
	Girls = 47
	20
43%
	17
36%
	10
21%
	29
62%
	12
26%
	6
12%
	27
57%
	14 30%
	6
13%
	23
70%
	7
21%
	3
9%

	
	Boys =98
	58
59%
	27
28%
	13
13%
	49
50%
	41
42%
	8
8%
	45
46%
	36
37%
	17
17%
	54
77%
	11
16%
	5
7%











Gender Comparison Whole School


	Whole School = 145 pupils
	Science

	PSHE

	ICT


	

	Exceed 
	Met
	Did not meet
	Exceed 
	Met
	Did not meet
	Exceed 
	Met
	Did not meet

	Key Stage 1
	Girls = 6
	1
	5
	0
	3
	2
	1
	1
	4
	1

	
	Boys = 3
	1
	1
	1
	1
	1
	1
	1
	0
	2

	

	Key Stage 2
	Girls = 9
	7
	2
	0
	8
89%
	1
	0
	4
	5
	0

	
	Boys = 33
	21
	12
	0
	17
52%
	14
	2
	7
	19
	7

	

	Key Stage 3
	Girls = 22
	14
	4
	4
	19
86%
	3
	0
	20
	2
	0

	
	Boys =37
	31
	1
	5
	22
59%
	11
	4
	33
	0
	4

	

	Key Stage 4
	Girls = 10
	8
	1
	1
	9
	1
	0
	8
	2
	0

	
	Boys =25
	20
	5
	0
	19
	3
	3
	21
	3
	1

	

	Whole School
	Girls = 47
	30
64%
	12
26%
	5
10%
	39
83%
	7
15%
	1
2%
	33
70%
	13
28%
	1
2%

	
	Boys =98
	73
75%
	19
19%
	6
6%
	59
60%
	29
30%
	10
10%
	62
63%
	22
22%
	14
14%








SEND Comparison Whole School
· Other refers to 80 MLD pupils and 13 SLD pupils across school

	Whole School = 145 pupils
	Speaking
ASD=19, Other = 11
	Listening
ASD=19, Other =11
	Spoken Language
ASD=39, Other =76
	Reading

	Writing

	
English
	Exceed 
	Met
	Did not meet
	Exceed 
	Met
	Did not meet
	Exceed 
	Met
	Did not meet
	Exceed 
	Met
	Did not meet
	Exceed 
	Met
	Did not meet

	Key Stage 1
	ASD = 2
	1
	1
	0
	1
	1
	0
	0
	0
	0
	2
	0
	0
	1
	1
	0

	
	Other = 7
	2
	4
	0
	2
	4
	0
	1
	0
	0
	2
	5
	0
	3
	4
	0

	

	Key Stage 2
	ASD = 22
	3
	9
	1
	4
	9
	0
	7
	1
	1
	10
45%
	10
	2
	12
	10
	0

	
	Other = 20
	4
	0
	0
	2
	2
	0
	13
	2
	1
	17
85%
	3
	0
	15
	3
	2

	

	Key Stage 3
	ASD = 20
	2
	0
	0
	0
	0
	2
	9
	8
	1
	11
	6
	3
	12
	5
	3

	
	Other = 39
	0
	0
	0
	0
	0
	0
	24
	14
	1
	23
	11
	5
	18
	16
	5

	

	Key Stage 4
	ASD = 14
	0
	2
	0
	1
	1
	0
	8
	2
	2
	7
50%
	6
	1
	6
	5
	3

	
	Other = 21
	1
	0
	0
	0
	1
	0
	10
	7
	3
	15
71%
	4
	2
	14
	6
	1

	

	Whole School
	ASD = 58
	6
32%
	12
63%
	1
5%
	6
32%
	11
58%
	2
10%
	24
62%
	11
28%
	4
10%
	30
52%
	22
38%
	6
10%
	31
53%
	21
36%
	6
11%

	
	Other = 87
	7
64%
	4
36%
	0
	4
36%
	7
64%
	0
	48
63%
	23
30%
	5
7%
	57
66%
	23
26%
	7
8%
	50
57%
	29
33%
	8
9%









SEND Comparison Whole School


· Other refers to 80 MLD pupils and 13 SLD pupils across school


	Whole School = 145 pupils
	Using & Applying
	Number
	Geometry & Measure

	Statistics

	Maths
	Exceed 
	Met
	Did not meet
	Exceed 
	Met
	Did not meet
	Exceed 
	Met
	Did not meet
	Exceed 
	Met
	Did not meet

	Key Stage 1
	ASD = 2
	1
	1
	0
	2
	0
	0
	1
	1
	0
	n/a
	n/a
	n/a

	
	Other = 7
	3
	4
	0
	3
	4
	0
	2
	5
	0
	n/a
	n/a
	n/a

	

	Key Stage 2
	ASD = 22
	9
	12
	1
	10
	12
	0
	10
	11
	1
	5
	1
	0

	
	Other = 20
	15
	5
	0
	13
	7
	0
	12
	8
	0
	9
	0
	0

	

	Key Stage 3
	ASD = 20
	9
	5
	6
	8
	8
	4
	8
	6
	6
	10
	5
	3

	
	Other = 39
	17
	9
	13
	22
	12
	5
	21
	9
	9
	27
	7
	3

	

	Key Stage 4
	ASD = 14
	9
	5
	0
	8
	5
	1
	8
	5
	1
	10
	1
	1

	
	Other = 21
	15
	3
	3
	12
	5
	4
	10
	5
	6
	16
	4
	1

	

	Whole School
	ASD = 58
(stats 36)
	28
48%
	23
40%
	7
12%
	28
48%
	25
43%
	5
9%
	27
47%
	23
40%
	8
13%
	25
69%
	7
20%
	4
11%

	
	Other = 87
(stats 67)
	50
57%
	21
24%
	16
19%
	50
57%
	28
32%
	9
11%
	45
52%
	27
31%
	15
17%
	52
60%
	11
13%
	4
5%









SEND Comparison Whole School
· Other refers to 80 MLD pupils and 13 SLD pupils across school


	Whole School = 145 pupils
	Science
	PSHE
	Computing


	
	Exceed 
	Met
	Did not meet
	Exceed 
	Met
	Did not meet
	Exceed 
	Met
	Did not meet

	Key Stage 1
	ASD = 2
	1
	1
	0
	1
	0
	1
	1
	1
	0

	
	Other = 7
	1
	5
	1
	3
	3
	1
	1
	3
	3

	

	Key Stage 2
	ASD = 22
	11
	11
	0
	9
41%
	11
	2
	3
14%
	14
	5

	
	Other = 20
	17
	3
	0
	16
80%
	4
	0
	8
40%
	10
	2

	

	Key Stage 3
	ASD = 20
	14
	2
	4
	10
50%
	7
	3
	15
75%
	1
	4

	
	Other = 39
	31
	3
	5
	31
79%
	7
	1
	38
97%
	1
	0

	

	Key Stage 4
	ASD = 14
	11
	3
	0
	10

	3
	1
	12
	1
	1

	
	Other = 21
	17
	3
	1
	18
	1
	2
	17
	4
	0

	

	Whole School
	ASD = 58
	37
64%
	17
29%
	4
7%
	30
52%
	21
36%
	7
12%
	31
54%
	17
29%
	10
17%

	
	Other = 87
	66
76%
	14
16%
	7
8%
	68
78%
	15
17%
	4
5%
	64
73%
	18
21%
	5
6%




